
������� �	 ���
��
 ������ ����


��������� ����������� ��		���

����������� ��� � 	���� �����

������


��������� ��� ���� ����� 	
���� ��
�����

������ �� �!�"����� 
#���$%#&

���� ��'������ 
��� ������� �� ����� �� �

������ �� ������	
 ��
���	
�

��(� �����)����

�*
���

+,�% �-.-�� +//0



��������

����������� �

	�������������� ���


������ �

� ������������ ��

�  ���� �����!� �� ���"����� �#������ �

+ 1 �2��3#$� �4 ���!#���� �2���3�                  5

+ 1 1 �#�$���� ��� ����#�-�-� �2���36 �-����3�-� ��� ����-7

����3�-� �2���3                      5

+ 1 + 	#"�� 
�#�� ��� �#����#8��#��               9

+ 1 5 
��#��#$ ��!-�#��                      1/

+ 1 0 �%���#$ ��!-�#��                      1+

+ 1 9 �#4-�$��#��                         15

+ 1 , ����!� ���� �#4-�$��#��                  15

+ 1 : 
#�$%4��& �#4-�$��#��                    19

1



�������� +

+ 1 ; �����$�#�#$�! �#4-�$��#��                  1,

+ 1 < ���4 �#4-�$��#��                      1,

+ 1 1/ ��-��� �� �%���                      1<

+ 1 11 ������! �4 �%���                      +1

+ 1 1+ ���� ���� ������!                     ++

+ 1 15 �!���� ���� ������!                    +5

$ ��%�� ����""����� �&

5 1 �2�$%���#8��#�� �4 ��-�!�� ��$#!!����� �2���3          +;

5 + �2��3#$� �=� ��-�!�� �->�. ��$#!!����� �#�% 
���3���#$

���-!��#��                             5/

5 + 1 ���!2�#$�! ��!-�#���                    5+

5 + + ������! �?-��#���                     5+

5 + 5 ���3��-!���� ����                    50

5 + 0 ����-����3�-� �2���3                  5,

5 + 9 ���#3���#���!7��� �#4-�$��#�� �#�.��3�        5:

5 + , ���#3���#���!7�=� �#4-�$��#�� �#�.��3�        0/

5 + : �%��� �2�$%���#8��#��                   05

5 + ; 
%��� �2�$%���#8��#��                   05

5 5 �����3#����� ��. �2�$%���#8��#�� #� � �=� ��-�!�� �->�.

��$#!!����� =#�% 
���3���#$ ���-!��#��             00

5 0 ���$!-�#���                             9;

' ��(�) ������������� *+



�������� 5

0 1 ��7�@ �����3#����$2 #� �=� ��-�!�� �->�. ��$#!!����� �#�%


���3���#$ ��� ���$%���#$ ��#A#�.                ,/

0 + ���"#��#�. �����$���� ��� ��7�@ �����3#����$2 #� �->�. ��7

$#!!�����                               ,5

0 + 1 ������! �?-��#���                     ,9

0 + + �#3� ���#��                         ,,

0 + 5 ���#3���#���!7�=� �#4-�$��#�� �#�.��3�        :0

0 5 ������! �4 ��7�@ �����3#����$2 B2 �!�= 
���3���#$ ���-!��#�� :,

0 5 1 �2���3 �4 �?-��#���                    ;/

0 5 + ������!                           ;/

0 0 ���$!-�#��                              ;5

, -���� �#����� .&

9 1 �2��3#$� �4 �� ��B#-37����� 	#B�� ����� �#�% 
-3� ���7

-!��#��� �%���2 ��� �"���#3���                  ;<

9 1 1 ����� ����!                         <+

9 1 + �#.%7	��?-��$2 ���.�                   <:

9 1 5 ��=7	��?-��$2 ���.�                   <:

9 1 0 �"���#3����! ���-�                     1/1

9 1 9 �"���#3����! ���-!��                    1/0

9 + ���$!-�#���                             1/<

* /����	- ����-0
��� ���

& 	

����1 ���



�������� 0

: 1 �������C� ��� ������ �	 �'������� 9 1 ��� 9 +  11+

: 1 1 	#��� ���3�!#8�                       115

: 1 + ��$��� ���3�!#8�                      119

: 1 5 �%#�� ���3�!#8�                      11:

 �2"�����!3# ��4



-��� �� 5������

+ 1 �%� ���� �����$��� D�#�&E                     ;

+ + ���� ����!!��                            ;

+ 5 ����!� ��#��                             <

+ 0 	�$-� �����$���                           <

+ 9 	�$-� ����!!��                            1/

+ , ������                                11

+ : �#4-�$��#�� �#�.��3 ��3������#��. ����!�7���� B#4-�$��#��   10

+ ; �#4-�$��#�� �#�.��3 4�� �#�$%4��& B#4-�$��#��           19

+ < �%� B#4-�$��#�� �#�.��3 4�� �%� �����$�#�#$�! B#4-�$��#��    1,

+ 1/ �-���$�#�#$�! ���4 B#4-�$��#�� �%� ��!#� $-�A� $����������

�� ���B!� ��!-�#�� ��� �%� ���%�� $-�A� ��4�� �� �%� -����B!�

��!-�#��                              1;

+ 11 
%��� ���$� �#�.��3� ��3������#�. �2�#$�! ���#�7��-B!� ��-��

�� $%��� D�E � ���#��#$ ��!-�#��6 DBE +� ���#��#$ ��!-�#��6 D$E

0� ���#��#$ ��!-�#�� ��� D�E $%���#$ ��!-�#��           +/

+ 1+ �!���� !��� 4���B�$& $�����! �$%�3�               +0

9



���� �	 	�
���� ,

+ 15 � ��.3��� �4 � ���F�$���2 #� � �%���7�#3���#���! �%��� ���$�

��� � ����#B!� �-�4�$� �4 ��$�#�� �%��-.% =%#$% �%� ���F�$���2

������ ��3� $�����! �!.��#�%3� ��!2 ��?-#�� &��=!��.� �4 �%�

$����#����� =%��� �%� ���F�$���2 �#��$�� �%� �-�4�$�6 #��#$����

B2 �%� ����                             +9

5 1 ��-B!�7��!! ������#�! 4-�$�#�� �?� D5 +E             59

5 + 
��#�#�� �4 ���B!� ��#��� �� A���-� $�-�!�� ������% � ��� A��#7

�B!� ��                                5,

5 5 �#4-�$��#�� �#�.��3 4�� �%� 3����� D��E ��� �!�A� D��E ��$#!7

!���� 4�� � � ������ �#@����� $�-�!#�. �����.�%� D�E � � ����

DBE � � ����D$E � � ����D�E � � ����                5;

5 0 �%� ��3� �� #� 	#. 5 B-� 4�� � � ���              5<

5 9 ���#3���#���!7�=� B#4-�$��#�� �#�.��3� #� D�� �E ����3����

���$� 4�� �#@����� 3��-!��#�� 4��?-��$#�� � D�E � #��#$����

�%� ���4 B#4-�$��#�� !#���6� #� �%� ����!� ���� B#4-�$��#��6

��� � #� $�#�#� !#��� �� ���% �$$-�� #��#�� �%� ���%�� ��7

.#�� B�-���� B2 !#�� �� �%� ������ A���#$�! !#��� #��#$���

�%� 3#�#3�! 3��-!��#�� �3�!#�-�� 4�� $�#�#� �4 �����$��� 4��

$���������#. 4��?-��$#�� DBE ��!��.� ��.#�� �4 	#. 9D�E ��7

3�������#�. �#@����� �2��� �4 $%��� �� � � ��� ��� #� ���

=�!! $%���6 �� #� %���#�. ��$#!!��#�� D���#��#�. =#���=�E6 ���


� #� ���#��#$ ��B#��                        0+



���� �	 	�
���� :

5 , 
%��� �2�$%��#8��#�� �4 ���7=�!! $%��� D�6BE �#3� ���#��

3����� D��E ��� �!�A� D��E ��$#!!�����6 D$E ����� �!�� �%�=#�.

�%�� �%� �3�!#�-�� ��� ���$����!����6 ��� D�E �%��� $����!�7

�#�� � � ���� � � ������� � ���                  09

5 : 
%��� �2�$%���#8��#�� �4 $����7=�!! $%��� � � ���� � � ������� �

���                                  0,

5 ; ���#3���#���!7�=� B#4-�$��#�� �#�.��3 #� ����3���� ���$� �4

3��-!��#�� 4��?-��$2 � ��� ����% 4�� � � ��� �����3#�����

!�. �2�$%���#8��#�� �$$-�� #� �%� A�$#�#�2 �4 �%� ����!�7����

B#4-�$��#�� !#��� =%#$% B�-�� �#@����� �2��3#$ ��.#3��� ���7

=�!! $%��� D/��E6 $����7=�!! $%��� D���E6 %���#�. ��$#!!�7

�#��� D��E6 ��� ���#��#$ ��B#�� D
�E �%� ���� #��#$���� �%�

����3���� 4�� =%#$% �%� ��.#3�� �4 ���#��71 ��� D
1E ���

���#��7+ ��� D
+E ��� �B���A�� D��� 	#.� 5 < ��� 5 1/ E     91

5 < ���7����� ���#��71 #����3#����� !�. �2�$%���#8��#�� �4 $����7

=�!! $%��� D�3�!! ��B#� �2�$%���#8��#��E D�E �#3� ���#�� �4

3����� D��E ��� �!�A� D��E ��$#!!�����6 DBE ��!��.�� ���� �4

D�E ��3������#�. �2�$%����-� =#���=� �4 ���#��#$#�2 #� ���

������ � � ���� � � ����	�� � ���                 95

5 1/ �=� ����� ���#��7+ �4 #����3#����� !�. �2�$%���#8��#�� �4 $����7

=�!! $%��� D!��.� ��B#� �2�$%���#8��#��E D�E �#3� ���#�� �4

3����� D��E ��� �!�A� D��E ��$#!!�����6 DBE ��!��.�� ���� �4 D�E

��3�������#�. �2�$%����-� =#���=� �4 ���#��#$#�2 #� ��� �4

�%� ������ � � ���� � � ����	�� � ���               90



���� �	 	�
���� ;

5 11 D�E �#3�� ���#�� �4 
��	 � ���� #� ���#��71 #����3#����� !�.

�2�$%���#8��#�� ��.#3� �%� =#���=� =#�% 
 � � ��� ���

�� �%� !�=7�#3���#���! G !�. �2�$%���#8��#��H �����$��� DBE

�#3#!��#�2 4-�$�#�� 
�	� A� !�. �#3� 	 � �%��� �"#��� � .!�B�!

3#�#3-� �� 	 � � ��� ��� !�$�! 3#�#3� 4�� �3�!!�� ��� !��.��

�#3�� 	��� � �� 
� ��                        9:

0 1 �%� ������#�! 4-�$�#�� � ��� �� �? 0 + �� � � �� #��#$��#�.

�=� =�!!� �� � � �
                         ,:

0 + �����2 ������ #� �%� A�$#�#�2 �4 �%� #�A��#��� �-B���$� #�I D�E

�� � �
� DBE �� � 
�� ��#�� � � 
��� ��� ����� ��� �=� �����

��7�@ #����3#���$2 ��� �B���A�� ��!2 #� �����#����       ,<

0 5 ���"#��#�. $%���#$ ��� ���#��#$ �����$���� �� �3�!! 3��-!��#��

D�E �=�7����� ��7�@ #����3#����$2 DBE ��� D$E ���7����� ��7

�@ #����3#����$2 ���-�� ��$% J"�� ��#��D�E ��� D�E 
�#��#$

��B#�� � � 
������ � � �����                   :/

0 0 �=� ����� ��7�@ #����3#����$2 �� � � ���
 ��� � � ����    :+

0 9 D�E �=� ����� ��7�@ #����3#����$2 DBE7D$E ��� ����� ���#��#$

��B#� D�E �=� ����� ���#��#$ ��B#� � � ��	 ��� � � ������   :5

0 , ���#3���#���!7�=� B#4-�$��#�� �#�.��3 #� D��� E ����3����

���$� �4 �%� �2���3 �?� D 0 570 :E =#�% ��#�� � � 
��� �%���

���7����� ��7�@ #����3#���$26 + /�7/@ #� �=�7����� ��7�@ #����7

3#����$26 1 � #� �%� ���7=�!! ���#�� ��B#�6 ��� + � #� $����7=�!!

���#�� ��B#�                             :9



���� �	 	�
���� <

0 : ���#�� �4 �����$�#�� �4 $��"#��#�. �����$���� 4�� � � ������ � �

��	 �%� B!�$&6 B!-� ��� .���� ���� ��������� �����$�#A�!2 �=�7

����� ��7�@ #����3#����$2 ��� ���7=�!! ��� $����7=�!! ���#��#$�

��B#��                                ::

0 ; ���#3���#���!7�=� B#4-�$��#�� �#�.��3 #� ��� ������3�����

�%��� + /�7/@ #� �=�7����� ��7�@ #����3#����$26 1 � #� �%�

���7=�!! ���#�� ��B#�6 ��� + � #� $����7=�!! ���#�� ��B#�     :;

0 < � �!�= ����3���#$ 3��-!��#�� !���� �� �%� �#���������$� �4

#����3#����$2 �����$��� �%� #�#�#�! �2���3 ��� D�E �=�7�����

��7�@ #����3#���$2 =#�%�-� 3��-!��#�� D� � �E6 DBE ���7�����

��� D$E �=�7����� ��7�@ #����3#���$2 =#�% �3�!! 3��-!��#��

D� � ���E �%� ����=� #��#$��� �%� 3�3���� =%�� �%� $�����!

=#�% � � ��� ��� � � ���� #� ���!#�� �%� ���2�$���2 #�

�����$� �� �%� !#3#� $2$!� #� �%� A#$#�#�2 �4 ��� �4 �%� ������#�!

=�!!� �%#� ��3�������� �%� K�"#B#!#�2 �4 �%� $�����! �� ��!�$�

�#@����� G�@H ������                        ;+

0 1/ ���#3���#���!7�=� B#4-�$��#�� �#�.��3 #� ���$� �4 D�E ��#��

!�A�! ��� 3��-!��#�� ����% �� � � ���� ��� DBE 3��-!��#��

4��?-��$2 ��� ����% �� � � �� �%� B�-����#�� B��=�� �#@�����

�2��3#$ ��.#3��6 ���7����� D1�E ��� �=�7����� D+�E #����3#�7

������$2 ��� ���#�#$ ��B#� D
�E ��� �%�=� �%� B#4-�$��#��

!#��� 4�� �%� ����� �4 #����3#����$2 ��� #��#$���� B2 �%� ����=� 

��!2 ���#��#$�! ��.#3�� �"#�� #� �%� ���%�� ��.#��       ;0



���� �	 	�
���� 1/

0 11 �A���.� !�3#��� !��.�% D�E A���-� ��!��#A� �#@����$� �4 3��-7

!��#�� ����% 4��3 #�� $�#�#$�! A�!-� �� � � ����� ��� DBE A���-�

3��-!��#�� 4��?-��$2 �� � � ���� #� !�.7!�. �$�!�� � � 
���

�%� J�� �4 �%� ���� �� ����#.%� !#��� ��� .���6 �%� �!���� �4

=%#$% ��� 71                             ;9

9 1 ����.2 !�A�! �#�.��3 �4 ��B#-3                  <,

9 + �-3��#$�! $�!$-!��� B#4-�$��#�� �#�.��3 �4 
��&7��7���& !����

#�����#�2 =#�% 3��-!��#�� 4��?-��$2 �� � $�����! ����3����

�� 9/L 7����% 3��-!��#�� �4 �-3� !���� �#��� $-����� �%�

4-���3����! !���� 4��?-��$2 �� #� �%�=� B2 �%� ������ !#��  <;

9 5 
��&7��7���& !���� #�����#�2 ��� �%��� �#@����$� A���-� 3��-7

!��#�� 4��?-��$2 4��� � �������� ��6�� ��� �� ��� �%� B���$%��

$���������#�. �� �#@������ �����$��� �6 �� ��� ��� ������� �%�

J���6 ��$���6 ��� �%#�� ��#&� #� �%� !���� �������        1//

9 0 �-3��#$�! $��#3���#���!7�=� B#4-�$��#�� �#�.��3 #� ����3�7

��� ���$� �4 3��-!��#�� 4��?-��$2 ��� ����%          1/+

9 9 �"���#3����! ���-� ��� #� �%� =�A�!��.�%7�#A#��� 3-!�#7

�!�"#�. $�-�!��6 
� #� �%� ��!��#8��#�� $�����!��6 	��1 ���

	��+ ��� �%� ���.. .���#�.6 ��� �1 ��� �+ ��� �%� �%���7

����$���                              1/5

9 , �"���#3����! B#4-�$��#�� �#�.��3 �4 !���� ���& #�����#�2 =#�%

3��-!��#�� ����% �� � $�����! ����3���� �� �� � �����   1/,



9 : 
��&7��7���& !���� #�����#�2 ��� �%��� �#@����$� A���-� 3��-7

!��#�� 4��?-��$2 4��� � �������� ��6�� ��� �� ��� �%� B���$%��

$���������#�. �� �#@����� �����$��� �6 �� ��� ��� ������� �%�

J���6 ��$���6 ��� �%#�� ��#&� #� �%� !���� ��������        1/;

9 ; �"���#3����! $��#3���#���!7�=� B#4-�$��#�� �#�.��3 #� ��7

��3���� ���$� �4 3��-!��#�� 4��?-��$2 ��� ����%        1/<



�����������

� 3#� ������ ���!�� )�#3�� 2 ���#� �-#�� ��M��.-#

� 3#� %��3���� ���$��6 ���!��6 �-3�2�6 �-�%6 �-#� 2 �-���

� ���� 3# 4�3#!#�

� !� ��3��#� �� �#!B�� �����B�

##



	��������������

� �#�� ?-� 3� �#� A#��6 ��!-� 2 �3�� 

� 3# ������ �! �� �!�"����� 
#���$%#$&6 ?-� .��$#�� � �- #�$����B!�

���2�6 ��$#��$#� 2 ��B�� ���� �- .��� ���N�#�- %�$#� !� $#��$#� 3� 3��#AO �

���!#8�� ���� ���B�F� 

�! �� �!�"����� P#� Q2���A ��� �- �F�3�!� �� ���B�F�6 $���$#3#����� 2

!� 3M� #3�������� $�!�B��O �$�#A�3���� �� �! �������!!� �� ���� ���B�F� 

�! ������ �� ��A���#.�$#���� �� (��#$�6 � � 6 ����� �� ���!#8O �� �- ��7

��!#��� ���� ���BF� �� ���#� ��$����! �� 3����� ����$#�! �"����� 3# �.����$7

#3#���� � !�� ��$����� R#$��� 
#��� ��B!���6 �-#� �4��N� ��.�!���6 ��3O�

����N.-�8 R��� 2 �! �#$ �����#� ����N��8 ����#!!� ?-#���� %#$#���� ���#B!�

3# !!�.��� �! ��� 

� !� �#��$$#O� �� 	��3�$#O� �$��S3#$� �� ������ �� ��A���#.�$#����

�� ���#$�6 � � �� 3����� 3-2 ����$#�! ?-#��� �.����$�� �! �� ���$#�

���B��� ���$N� 2 � !� �#$ �-#!!��3#�� �-T#86 ?-#���� �� ��$��.���� 3-2

.���#!3���� �� ���2��3� $�� !�� ��M3#��� ��3#�#�����#A�� ?-� �� �-A#����

?-� ���!#8�� 

� !�� ��A���#.������6 ���-�#�����6 ���B�F������ ��! ������ �� ��A���#.�7

###



���� �	 	�
���� #A

$#���� �� ���#$�6 � � 6 �#� �!!�� �� %-B#��� �#�� ���#B!� %�$�� -�� �� !��

�#4������� #����!�$#���� ��! ������ 

� 3#� �3#.�� 2 $�3��T����� ��!�$#� ������6 ���-�! �� !� �����6 �-BS�

����N.-�86 �����#-% ��-$���6 �#�%-S �#��F���6 RN$��� �-���6 �����!#� U!7

A���86 �����#-% �$%�.�2S�6 2� ?-� $�� �-� ���N�#�-� �� ��!#���#��� 2 �3#����

3� ���2���� 3-$%� �� !�� 3�3����� �#4N$#!�� 

� !� 3M� #3�������� �.����$�� � �S"#$�6 2� ?-� $�� �- ����3� %���#��!7

#��� �� ���� !#��� 
�N� 3� %#8� ����#� -� �3B#���� 3M� %-3��� 




������

�%#� �%��#� $�!!�$��� �%� =��& � �#� �-�#�. 32 
% � �� �%� ������ �� ��7

A���#.�$#���� �� (��#$� � � �%� =��& =�� ���� -���� �%� �-���A#�#�� �4

�� �!�"����� 
#���$%#& � �!�� �$&��=!��.� �� �� �!�"����� P#�2���A

4�� %#� %�!� ������3��� �4 
%����#$�6 ������ �� ��A���#.�$#���� �� (��#$�

� � �%#� =��& %�� B��� �-������� B2 ����#�-�� ��"#$��� �� �������$#O�

�������$#���! �� !� � � � �� �! 3��$� ��! ���.��3� G�-�-%�S3�$ �� H D ���7

�������7���E ��� �!�� #� %�� B��� ����#�!!2 �-������� B2 �������

���A��#� V /57/07&11<7/1< ��! +//56 #������! �-������� �4 ������ �� ��7

A���#.�$#���� �� (��#$� � � ��� ����#�-�� �S"#$�7��� �4 �%� ��#A���#�2

�4 ��!#4���#� D��7��
��E ��� �����F� ��$#���! �� �#��$#� 2 ��$��!�.#�7

�S"#$� 

A



�3�!��� �

������������

���� �%�� �=� ��$���� �4 #������ ��-�#�� �4 ���!#���� �2��3#$ %�A� �%�=�

�%�� �%� $%��� �$$-�� =#��!2 #� �%2�#$�6 $%�3#���26 B#�!�.26 ��.#����#�.6

3��%�3��#$�! ��� ��$#�! !#4� W16 +6 5X �%� �#�$�A��2 �4 $%��� $%��.�� �-�

-���������#�. �4 �%� 4�-����#�� �4 �%2�#$�6 %�� 3��2 ���$�#$�! ���!#$��#���

�� =�!! �%� ���!#���� �2��3#$ �%��� ��= !#.%� �� �%� =��&#�. �4 !�����6 K-7

#��6 3�$%��#$�! ���-$�-���6 ��� $%�3#$�! ���$�#��� �� %�� B��� ����� ��!2 ��

#���.-!�� �� -�����#$��B!� B�%�A#�� ��� �4��� ����#B-��� �� �����3 �"�����!

#�K-��$�� 	-��%�� ��-�#�� �%�=�� �%�� $%���#$ �%���3��� ��� $�3�!���!2

�����3#�#��#$ ��� $%���$���#��#$ 4�� �2�#$�! ���!#���� �2���3� 

�%� #������� #� $%��� ��� ���!#���� �2��3#$ %�A� .��=� ���#�!2 �#�$�

1<,56 =%�� ������8 �-B!#�%�� %#� �-3��#$�! =��& �� � �#3�!#J�� 3���! �4

$��A�$�#��6 ��� �#�$-���� #�� #3�!#$��#�� 4�� =���%�� ����#$�#�� ��=���2�

�%� ������$%�� �4 ���!#���� �2��3#$� ��� �������#�. �� #3������� ���$�#7

$�! ���!#$��#��� =%#$% #�$!-�� $�33-�#$��#���6 3���!!#�. B��#� ��� $���#�$

A#



�
����� �� ������������ A##

�%2�%3 �$�#A#�26 ����%?-�&� �2��3#$�6 ��$ D���6 � . 6 W0X ��� ��4����$��

�%���#�E 

�� ���!#���� �2��3#$�6 �%� ��-�2 �4 ���!#���� ��$#!!����� %�� �!�2�� � A��2

#3������� ��!� #� �%� -���������#�. �%� $%���#$ �%���3���� �%� �->�.

��$#!!���� %�� B��� ������� �� �����#.3 �4 3��2 -B#?-#��-� �2���3 �%�

��-�2 �4 �-$% �2���3� #� B���� 3���!2 �� �����"#3��� ���!2�#$�! ������$%��

��� ����#! �-3��#$�! #�A���#.��#��� 

���2 �2���3� #� �%� ���-�� %�A� ��A���! ���B!� ������ ��������� B2 ����.2

B���#��� �%�� �%� �2���3 3�A�� �3��. �%� ���B!�� ������6 �%� �2��3#$� B�7

$�3�� ?-#�� $�3�!�" � �#3�!� 3���! �%�� #!!-������� ��3� �4 �%#� 4���-���

#� �%� ��-B!�7=�!! �->�. ��$#!!���� �%#� 3���! =�� J��� #�����-$�� �� -�7

�������� 4��$�� A#B���#��� �4 #��-���#�! 3�$%#���2 B2 �%� ���3�� �!�$��#$�!

��.#���� �->�. #� 1<1; W9X 

�%� &��=!��.� �4 �%� �2��3#$ B�%�A#�� �4 �%#� ��$#!!���� -���� �"���7

��! 3��-!��#�� #� �4 .���� #3������$� ��� $�� B� ���?-��� �� �"�!���� �

A��#��2 3���! �4 �%2�#$�! ���$����� �-$% �� ��#@��#�. ���#�.�6 B��3 B-$&7

!#�.6 ���!#���� �!�$����#$ $#�$-#��6 �-���$���-$�#�. )����%��� ����3���#$

�3�!#J���6 ��� #��#8��#�� =�A�� #� �!��3��6 �� =�!! �� B#�!�.#$�! ���$�����

W,6 :6 ;6 <6 1/6 116 1+6 156 106 19X6

�%� ����$% �4 !���� �2��3#$ =#�% $%���#$ ��� �-�B-!��� ���$����� #� ��%��

J�!� �4 �%� ���-�� %�� B��� $���#�� �-� �#�$� !��� +9 2���� �� %�� B�$�3� #�7

$����#�.!2 �A#���� �%�� 3#�-��������� ��� ���-B!���3� !���� �������#��6 �-$%

�� -����B!� �3#��#��6 ���� ������-$#B!2 �4 �%� !���� �-!��6 !#3#���#�� �4 ��7

��#��B!� =#��%� �4 -!����%��� �-!��� ��� $�%����$� !��.�%�6 ��� �!�� ���B!�3�



�
����� �� ������������ A###

=#�% �%� �3#��#�� 3��� ������� �%����6 ���������-� #���.-!�� �-!�#�.6 ��$ 6

��� ��� $�-��� B2 #��->$#��� ��$%�#$�! �&#!!6 B-� ��� �#��$� $����?-��$�� �4

�%� #�%����� ���!#����#�2 �4 �%� !���� �%� #3���A�3��� �4 �%��� !���� ����7

���#�� �%���4��� ��?-#��� ��� F-�� �#!#.��� �@��� B-� 3��� -���������#�. �4

�%� �%2�#$� �4 �%#� ����#$-!�� ���!#���� �#��#���#A� �2���3 

�� �%� ���� ��$����6 ��A�!-�#����2 ���.���� %�� B��� �$%#�A�� #� ������$%

��� $�33��$#�!#8��#�� �4 ��B#-37����� JB�� !����� D��	��E �%� �"$!-�#A�

��A����.�� �4 �%��� !����� ��� �%� !��. #�����$�#�� !��.�% �4 �-3�#�. !#.%�

=#�% �%� �$�#A� #��� �%�� !���� �� A��2 %#.% .�#� ��� � �#�.!� �����A����! 3���

������#�� .#A�� B2 � �-#��B!� $%�#$� �4 �%� JB�� $��� �#�3���� ��� #���" ���� 

�%��� 4���-��� 3�&� ��	�� �"$�!!��� !#.%� ��-�$�� 4�� ���#$�! $�33-�#$�7

�#���6 ��K�$��3���26 ����#�.6 3��#$#��6 ��$ W1,6 1:X ����=%#!�6 �%��� !�����

��� ?-#�� ����#�#A� �� ��2 �"�����! ����-�B��#�� =%#$% 3�2 �����B#!#8� �%�#�

���3�! ������#�� �%���4���6 �%� &��=!��.� �4 �%� �2��3#$ B�%�A#�� �4 �%���

!����� -���� �"�����! 3��-!��#�� #� �4 .���� #3������$� ��� $�� B� ���3#����

4�� 3��2 ���!#$��#��� 

�%� 3��� �BF�$�#A� �4 �%#� �%��#� #� �� ��-�2 ���!#���� �2��3#$ �4 $�37

�!�" �2���3 =#� ����3���#$ 3��-!��#�� �� �"�3�!� �4 $�3�!�" �2���36 ��

$%���� �->�. ��$#!!���� ��� � JB�� !���� ���% �%� �->�. ��$#!!���� ���

!���� �?-��#��� 3���! ����-����3�-� �2���36 #� =%#$% ��� �4 �%� ����3�7

���� #� 3��-!���� %��3��#$�!!2 �%� �->�. ��$#!!���� #� $�33��!2 -��� ��

� .�����! �"�3�!� #� �%�����#$�! �4 ����-����3�-� �2���36 =%����� �%� JB��

!���� #� �%� ���$�#$�! �"�3�!� �4 �-$% � �2���3 

�� �-3��#$�! $�!$-!��#�� �� -��� 4�-��%7����� �-�.�7P-��� �!.��#�%3 



�
����� �� ������������ #"

�#3� ���#��6 �%��� ���$� �#�.��36 ��� B#4-�$��#�� �#�.��3 %�� B��� -��� ��

A#�-�!#8� �%� �2��3#$ B�%�A#�� �4 �%� �2���3 

�%� �%��#� $����#�� ��A�� $%������6 �%� J��� ��� ��$��� �%������ ��� ���7

#$���� �� ������-$�#�� ��� B��#$ $��$��� �4 �2��3#$ ���!#���� �%� ��-�2 �4

�2��3#$ B�%�A#�� �4 �=� ��-B!�7=�!! �->�. ��$#!!����� �-BF�$��� �� ����7

3���#$ ��Y��� ���$%���#$ 3��-!��#�� #� ������� #� �%����� 5 ��� 0 �����$7

�#A�!2 �� �%����� 9 =� ���#$��� �� ��-�2 �4 �2��3#$� �4 �� ��B#-37�����

JB�� !���� =#�% �-3� 3��-!��#�� �%� .�����! $��$!-�#�� ��� ������#" ���

������� #� �%����� , ��� : �����$�#A�!2 

���� ���$#��!26 �%� �%��#� #� ��.��#8�� #� �%� 4�!!�=#�. =�2 

�3�!��� � ������������6 �� $����#�� ���$��#�.6 F-��#J$��#��6 �BF�$7

�#A��6 3��%���!�.2 ��� ���-$�-�� �4 �%� �%��#� 

�3�!��� �  ���� �����!� �� ���"����� �#������6 �� �%#� $%�����

B�#�K2 #�����-$�� �� �%� ������ �� B��#$ $��$��� �4 �2��3#$ ���!#����6 �-$%

�� �#�$���� ��� $���#�-�-� �2���36 �-����3�-� ��� ����-����3�-� �2���36

B�#�4 �%���2 �4 ���B#!#�2 ��� B#4-�$��#�� �#�.��36 �2��� �4 �2��3#$ $�����!6

��� A��#�-� $!��� �4 ��!-�#�� �4 ���!#���� �2���3� 

�3�!��� $ ��%�� ����""�����6 �%#� $%����� #� ��A���� �� ��-�2 �4

�%� �2��3#$� �4 $�3�!�" �2���3� =#�% ����3���#$ 3��-!��#�� �� ���� =#�%

� B�#�4 A#�= �4 �->�. ��$#!!����� ��� �2�$%���#8��#��6 �%�� =� ��-�2 �%�

�2��3#$� �4 �=� $�-�!�� �->�. ��$#!!����� =#�% ����3���#$ 3��-!��#�� #�

��� �4 �%�3 �� �!�� #����#42 #����3#����� !�. �2�$%���#8��#�� #� �-$% �



�
����� �� ������������ "

�2���3  	#��!!2 =� .#A� �%� 3�#� $��$!-�#�� �4 �%#� ���� �4 =��& 

���$#J$�!!2 ��-�2#�. �4 �%� �2��3#$ �4 �=� $�-�!�� �->�. ��$#!!����� =#�%

����3���#$ 3��-!��#��6 J���6 =� ����$% ���!2�#$�!!2 4�� �����27����� ��!-�#���

�4 �%� �2���3 =#�%�-� 3��-!��#�� �%�� =� J�� �-3��#$�!!2 �!! ��!-�#��� �4

�%� =%�!� �2���3 =#�% ����3���#$ �"$#���#�� 4�� �#@����� $�-�!#�. �����.�%�6

3��-!��#�� �3�!#�-��� ��� 4��?-��$#�� �%#� �!!�=� -� �� ��A��! �%� ��!��#��

=#�% �%� $�-�!#�. �@�$�� �� �%� ���4 B#4-�$��#�� �4 �%� =%�!� �2���3 ��� ��

$�#�#� �4 $��"#��#�. �����$���� �� �!�� ��3�������� �%�� $%���#$ ��$#!!��#���

#� �%#� �2���3 ��� �!=�2� �2�$%���#8�� #� �%��� 	#��!!26 �� #�������#�. �2��

�4 �2�$%���#8��#�� 

	�� ��-�2#�. #����3#����� !�. �2�$%���#8��#�� #� ����3���#$�!!2 3��-!����

�4 �=� $�-�!�� �->�. ��$#!!�����6 J��� =� 3�&� ���B#!#�2 ���!28�� �4 �?-��#��

�4 �2���36 �%�� =� $�����-$��� �%� $��#3���#���!7�=� B#4-�$��#�� �#�.��3

#� �%� ����3���� ���$� �4 3��-!��#�� �3�!#�-�� ��� $�-�!#�. �����.�% ���

#� �%� ���$� �4 �3�!#�-�� ��� 4��?-��$2 �4 3��-!��#��6 �%� �2��3#$ �#��!�2

�#@����� �2��3#$6 �-$% ��6 ���7=�!! $%��� D���E6 $����7=�!! $%��� D���E6

%���#�. ��$#!!��#��� D��E6 ��� ���#��#$ ��B#�� D
�E �%�� #����3#����� !�.

�2�$%���#8��#�� #� ��-�#�� 	#��!!26 �%� 3�#� $��$!-�#��� ��� .#A�� �� �%�

��� �4 �%� $%����� 

�3�!��� ' ��(�) ������������# �� ��%�� ����""����� 7��3 
���(

������ ��� ����3����� �������6 	#��� =� �� � B�#�4 ��J�#�#�� ��� $!��7

�#J$��#�� �4 #����3#����$2 �%���3���� �%�� =� ���#$��� �� �%� $��"#��#�.

�����$���� ��� ��7�@ #����3#����$2 #� �=� $�-�!�� �->�. ��$#!!����� =#�%



�
����� �� ������������ "#

����3���#$ ��� ���$%���#$ ��#A#�. �� J�� �-3��#$�!!2 �!! ��!-�#��� �4 �%�

=%�!� �2���3 =#�% ����3���#$ �"$#���#�� ��� ��#�� 4�� �#@����� �3�!#�-���

��� 4��?-��$#�� �4 �%� 3��-!��#�� �%#� �!!�=� -� �� #����#42 ��.#�� �4 �%�

$��"#����$� �4 �%� �#@����� �����$���� �%�� =� B-#!� �%� B��#� �4 �����$�#��

�4 �����$���� 4�� J"�� A�!-�� �4 3��-!��#�� �3�!#�-�� ��� 4��?-��$2 ��

��3�������� �%�� �%� �2���3 =#�%�-� 3��-!��#��6 �#��!�2 ��!2 �����2 �����

B�%�A#�� 	#��!!26 =� $���#��� �%� �2���3 =#�%�-� ��#�� 

�����A�� #� �%#� $%����� =� �!�� ���#$��� �� ������! �4 ��7�@ #����3#�7

���$2 B2 �!�= ����3���#$ 3��-!��#�� �� �%#� ���� =� ��-�2 �2��3#$ #� �=�
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-�$����#��2 =#!! B� �3�!#J�� �� �� �� ������ �$�-�! &��=!��.� �4 �%� �����
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* D��3�3B�� �%�� #� � ��!�� $����#����

�2���3 �%� ���#�! $����#���� + $���������� �� �%� �#����$� �4 � ��#�� 4��3

�%� ��#.#� ��� #� �!=�2� ��&�� �� B� ���#�#A�E 
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B��� �� * $������ �  �%#� #� $�!!�� �-���$�#�#$�! ���4 B#4-�$��#�� �%�

�3�!#�-�� �4 �%� !#3#� $2$!� #� �%�= #� 	#. + 1/
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�%� 3�$%��#�3 �4 �%� �����#�#�� �� $%��� #� �4 4-���3����! #3������$� 4��

-���������#�. ��2 $%���#$ B�%�A#�� �%��� ��� �%��� 3�#� ��-�� �� $%���
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D#E � ���#�� ��-B!#�. B#4-�$��#�� #� $�33��!2 �B���A�� #� ���#��#$�!!2

4��$�� ���!#���� �2���36 =%��� �%� A��2#�. �3�!#�-�� �4 �%� 4��$� �#.��!

D4�� #�����$� � �#�-��#��! ���E �$�� �� � B#4-�$��#�� ����3���� W+X � �2�#$�!

�#�.��3 �4 �%��� ���$� �4 ��� �4 �-$% �2���3� 3�2 !��& !#&� #� 	#.-�� + 11 �2

#�$����#�. ��� �4 �%� B#4-�$��#�� ����3���� =� �B���A�� �%� �����4��3��#�� �

$!���� ��B#� D	#. + 11�E6 #��� �=� $!���� ��B#�� D	#. + 11BE6 4�-� $!���� ��B#��

D	#. + 11$E ��� J��!!2 �� #�J�#�� �-3B�� �4 $!���� ��B#�� D	#. + 11�E6 =%#$%

#� �%� �2�#$�! ���#��7��-B!#�. ��-�� �� $%��� �%� ���#�� � �4 �%� $!����

��B#� #� �?-�! �� � ���#�� �4 �%� �"$#���#�� 4��$�6 �=� $!���� ��B#�� #��#$���

�%�� �%� ���#�� �4 ��$#!!��#��� #� �=#$� �� !��. 

����%�� ����#B#!#�26 ��� �#�$-���� %���6 #� �%� �����#�#��� �� $%��� A#� .!�B�! B#4-�$�7

�#��I �%���#$ �����#���� ��� ��#�#�
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D##E '-��#���#��#$ ��-�� �%� ��$��� ��-�� �� $%��� #� ����$#���� =#�% � ���4

B#4-�$��#��6 =%#$% .�������� � !#3#� $2$!� �����#�. 4��3 � J"�� ��#�� �� 3��2

�2���3 -����.�#�. �%� ���4 B#4-�$��#��6 � 4-��%�� #�$����� �4 �%� $�����!

����3���� 3�&�� ����#B!� �� J�� �%� ��$��� ���4 B#4-�$��#�� �4��� �%�

B#4-�$��#�� �%� �������� �4 �%� �2���3 #� ?-��#���#��#$ =#�% �=� #����������

4��?-��$#��6 �� �%�� ���F�$���#�� ��� ���=� �� � �=�7�#3���#���! ���-� � ��
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4��3 �%� ��-�$�6 ��� �� � ���-!� �%� ��$#!!��#��� �#� �-� �!! ���A#�-� ��-�#��
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�->$#���!2 ��������� �� D##E #4 �%��� �"#��� �#3� ��!�2 #� $�-�!#�. �A�� =%��
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��3� -�#�. ���#$�!2 �#��#���#A� �"�����!!2 ��#A�� ��$#!!����� %�A� B��� #�A���#7

.���� #� �%� !#�����-�� !��� #������!2 �%�� ��!47�"$#��� 3���!� 	�� �"�3�!�6

P��#���#�& W5<X ��-�#�� �%� �����#�#�� �� %2���$%��� 4�� � �2���3 �4 $�-�!��
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�#� �� �! W0+X $���#����� �%� �@�$� �4 �%��� �#@����$� #� 3-�-�!!2 $�-�!��
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����3�-� �2���3� #� �%�� #� �%� !����� �2���3 �=� ���#�#���! ����3����� D#�
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$��"#��#�. �����$���� 
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�%� !�3#��� �%��� ������� �� �%� ��#�� !�A�! �%#� �-..���� �%�� �%� ������

4�� �%� $�����! �@�$� #� � �������� #�����$�#�� �4 �%� 3��-!��#�� 4��?-��$2



�
����� �� ����		 ������������� ;+

	#.-�� 0 <� � �!�= ����3���#$ 3��-!��#�� !���� �� �%� �#���������$� �4 #����7

3#����$2 �����$��� �%� #�#�#�! �2���3 ��� D�E �=�7����� ��7�@ #����3#���$2

=#�%�-� 3��-!��#�� D� � �E6 DBE ���7����� ��� D$E �=�7����� ��7�@ #����3#7

���$2 =#�% �3�!! 3��-!��#�� D� � ���E �%� ����=� #��#$��� �%� 3�3����

=%�� �%� $�����! =#�% � � ��� ��� � � ���� #� ���!#�� �%� ���2�$���2 #�

�����$� �� �%� !#3#� $2$!� #� �%� A#$#�#�2 �4 ��� �4 �%� ������#�! =�!!� �%#�

��3�������� �%� K�"#B#!#�2 �4 �%� $�����! �� ��!�$� �#@����� G�@H ������



�
����� �� ����		 ������������� ;5

=#�% �%� 4��?-��$2 �� =%#$% �%� ���F�$���2 ����!!�� �=�2 4��3 ��� �4 �%�

#�A��#��� �-B���$�� 

��&#�. #��� �$$�-�� �%� �B�A� ���$-!��#���6 �%� 3��� �-���#�� �4 �%�
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=%��� .� ��� .� ��� �%� ��!�"��#�� ����� 4�� #�A���#�� ��� ��!��#8��#��6

�����$�#A�!2 �� �%� #�%�3�.����-� B������#�. $���6 �%� 3����#�! $���#���

�4 ���3�Y3�!�$-!�� �4 �#@����� �������$� 4��?-��$#�� �#.%� �4 � ����#$-!��
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������ 3�2 B� $!���#J�� #� ��#!! ����%�� =�2 ������ ������#�. #� � �#�.!�

�3#��#�� 3��� ��� ���$�#B�� B2 �%� �%��� �?-��#�� 4�� �%� �%��� ��!�A���

A��#�B!��� J�!�6 ���-!��#�� ��� ��!��#8��#�� ��-�!!2 ��$�2 �� A��2 �#@�����

�#3� �$�!�6 =%#$% #� .#A�� B2 �%� ��!�"��#�� ����� E D��3�#�. ���� �4 �%� !����

���������E6 .� ��� .�� �4 ��� �4 �%���� #� !��.� $�3����� =#�% �%� ��%���6 �%�

$���������#�. A��#�B!� ��!�" 4��� ��� $����?-���!2 ��#�B��#$�!!2 ��F-��� ��

�%� ��%�� A��#�B!�� �%� �-3B�� �4 �?-��#��� ���$�#B#�. �%� !���� #� �%��

���-$�� 

�%��� !����� 4�� =%#$% �%� ���-!��#�� ��� �%� ��!��#8��#�� ��$�2 4��� #�

$�3���#��� =#�% �%� J�!� %�A� B��� ��3� $!��� � !�����6 �%��� 4�� =%#$%

��!2 �%� ��!��#8��#�� ��!�"�� 4���6 $!��� � !�����6 ��� �%��� 4�� =%#$% �!!

�%��� ��!�"��#�� ����� ��� �4 ��3� 3�.�#�-��6 $!��� � !����� 

����� �?-��#��� 4�� $!��� � !���� ���-$� �� ��� �%���4���6 ��!2 $�������

�-��-� ��!-�#�� �"#�� 	�� �%� $!��� � !����6 ��$#!!��#�� �4 ����.2 B��=���

J�!� ��� #�A���#�� ���-!��#�� #� ����#B!� ��� �%� �?-��#��� 2#�!� ��!�"��#��

��$#!!��#��� �!��� � !���� =#�% �%�#� $�-�!�� �2��3#$� �4 J�!�6 #�A���#��

��� ��!��#8��#�� $�� �#��!�2 -���3��� ���#��#$ �� ���7���#��#$ D$%���#$E

�-!�#�. 

�!��� � !����� $��6 %�=�A��6 �%�= $%���#$ �2��3#$ =%�� �%�2 ��� �"�����!

#�K-��$�� D3��-!��#�� �4 � ����3����6 #�F�$�#�� �4 �"�����! !#.%� 6 4���B�$&E 
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	��3 �%� A#�=��#�� �4 ���!#���� �2��3#$�6 ����7����� JB�� !����� =#�% �"���7

��! 3��-!��#�� �3��. =#�% ��!#�7�����6 ��3#$���-$���6 ��� .�� !����� =#�%

�!�$��#$ �#�$%��.� D!#&� ��� ��� �� !�����E B�!��. �� $!���7� !����� W:<X 

�%��� ��� �2���3� #� =%#$% ��!��#8��#�� #� ��#�B��#$�!!2 �!#3#����� ��� �%�

�2��3#$� $�� B� �-!�� B2 �=� ���� �?-��#��� 4�� J�!� ��� ���-!��#�� #�7

A���#�� �� ��#�� �4 �� #3�����#A� ����2 �4 ������$% �� $�3�!�" �2��3#$�

#� !�����6 ���!#���� �2��3#$� �4 ��B#-3 ����� 	#B�� ������ D��	��E =��

������� �� ��-�2 ��!2 ��$���!2 �%� 3�#� 4���-��� �4 �%� �2��3#$�! B�%�A#��

�4 �%��� !����� ��� A��2 �#3#!�� �� �%��� �4 ��%�� $!���7� !����� �#@�����

�$����#� 4�� ��A�!��3��� �4 � $%���#$ 3��#�� %�A� B��� 4�-�� #� ��	�� 

	#���6 � ���#��7��-B!#�. ��-�� �� $%��� %�� B��� �B���A�� B2 ��$�� �� 
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W;/X #� � B#��!��#8�� �=�73��� ��	� =#�% %��3��#$ �-3� 3��-!��#�� �4

�%� &�2���� !���� �%� �-�%��� �!�� ��A�!���� � 3���! B���� �� �=� $�%��7

���!2 �-3��� $�-�!�� !����� �%��6 � ?-��#7���#��#$ ��-�� �� $%��� %�� B���

4�-�� B2 ���8%�8 �� 
�� W;1X #� � �-�!7=�A�!��.�% ��	� �A���-�!!26 �-�
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�� W;+X %�A� ��A��!�� �%� $��"#����� �$����#� �4 �%� ���#�� ��-B!#�. ���

#����3#����$2 ��-��� �� $%��� #� � �-3�73��-!���� �#�. ��	� �%�2 �!��

�������� �� B#���B#!#�2 D$��"#����$� �4 �=� ���#��#$ �����$����E #� �%#� !����

W;+6 ;5X ���� ��$���!26 ���#$�! B#���B#!#�2 D$��"#����$� �4 � !#3#� $2$!� ��� �
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J"�� ��#��E %�� B��� ����$��� B2 ��� ��� �#� W;0X #� �%� A#$#�#�2 �4 �%� J���

!���� �%���%�!� #� � �-�!7=�A�!��.�% ��	� =#�% �A��!���#�. $�A#�#�� �� �-�

���A#�-� =��&�6 =� %�A� �������� �� $��"#����$� �4 3-!�#�!� ���#��#$ �����$7

���� D.�����!#8�� 3-!�#���B#!#�2E 4�-�� B��% �%�����#$�!!2 ��� �"���#3����!!2

#� ��	� �-BF�$��� �� !��� W;9X �� �-3� 3��-!��#�� W1;6 1<X �%��� ��� �!��

3��2 =��&� ��A���� �� � ��-�2 �4 � ��!47�-!���#�� B�%�A#�� �4 ��	� D���6 4��

�"�3�!�6 W;,X ��� ��4����$�� �%���#�E �-$% � B�%�A#�� %�� B��� �-..����� ��

B� �-� �� �%� ������$� �4 � ���-��B!� �B���B�� #� �%� JB�� #� �%� 4��3 �4 #��

��#�� W;:X �� �-3� ���!��#�� W;;X6 �!�%�-.% �%��� 3�$%��#�3� ��� ��� ��$��7

���2 4�� �"�!����#�� �4 �%#� B�%�A#�� �3�!! ?-��#7�#�-��#��! 3��-!��#�� �4

�%� !���� #�����#�2 =#�% � B������ 4��?-��$2 �4 ��!�"��#�� ��$#!!��#��� �������

#� �%� ��=�� ���$��-3 �-� �� �%� ������$� �4 ��#�� #� � �#��� �-3� !���� W;<X

��� !��.� ��!47�-!���#��� $�� B� �"�!�#��� B2 �$$�-��#�. 4�� � �%��3�7!���#�.

�@�$� �-� �� �%� �"$#��� ����� �B�����#�� W</X �%��� �%�����#$�! ���$-!��#���

���$�#B� =�!! �!! �"���#3����!!2 �B���A�� ��!47�-!�#�. 4���-��� �4 ��	�� 

��!2 4�= =��&� ��� ��A���� �� � ��-�2 �4 �%� ���!#���� �������� �4 ��	�

�� ����3���#$ 3��-!��#�� �%� �2��3#$� �4 �%#� !���� =��� �������� ��$���!2

#� �%� =��& �4 ��!� �� 
�� W;,X ��� #� �-� =��&� W;96 1;6 1<X ��!� �� 
�� ��-�#��

�%� �2��3#$� �4 � �#�. 19557�3 ��	� =#�% �#�-��#��!!2 3��-!���� 10:/7�3

�-3� �#��� !���� �%�2 ��A�!���� � ���%�� $�3�!#$���� 3���! W;:X =%#$%

���$�#B�� =�!! �%�#� �"���#3����! ���-!�� �� �-� ���A#�-� =��&� =� ��-�#��

� !#���� 19,/7�3 ��	� �-3��� B2 � <,:7�3 !���� �#��� �-$% � !����

#� $�33��!2 -��� #� 3��2 !�B������#�� ��� ���A�� 4�� A��#�-� ���!#$��#��� 

��=�A��6 �%� ���$����$��2 �4 �%#� !���� #� ?-#�� �#@����� 4��3 �%�� �4 �%�
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���� $�A#�2 �-BF�$��� �� %��3��#$ �-3� 3��-!��#�� �4 �%� �#��� !���� ��

��A�!�� � ��A�! �#3�!� 3���! =%#$% $�� B� -��� �� ���$�#B� �-$% � !���� ���6

�� =� =#!! �%�= B�!�=6 ���4�$�!2 ��������� �!! !���� ��$-!#��#�#�� �B���A��

�"���#3����!!2 �� #�A���#.��� �%�����#$�!!2 �%� !���� �2��3#$� �A�� � =#��

���.� �4 4��?-��$#�� �4 �-3� 3��-!��#�� �-� 3���! ���� ��� �$$�-�� 4�� �

���-��B!� �B���B�� �%���3���� #� � JB�� ��� %��$� �%� ��!47�-!�#�. B�%�A#��

���� ��� ������ �%#� #� ��#�-!���� B2 �%� 4�!!�=#�. ������� 	#���6 �%� �-3�

��=�� -��� #� �-� �"���#3���� #� ��� �3�!! �� #��-$� � �%��3� !��� #� �%�

JB��6 ��� ��$���6 �%� �-3� 3��-!��#�� �3�!#�-�� #� 3-$% !��.�� �%�� ��#�� 

�%� $%����� #� ��.��#8�� �� 4�!!�=� �� ��$�#�� 9 1 1 =� ���$�#B� �-�

3���! �� ����� �� ���� �%� 3���!6 #� ��$�#�� 9 1 + =� �#3-!��� �-3��#$�!!2

�%� �"���#3���� �������� #� �-� ���A#�-� =��&� W1;6 1<X 4�� �%� $��� =%�� �%�

3��-!��#�� 4��?-��$2 #� %#.%�� �%�� �%� ��!�"��#�� ��$#!!��#�� 4��?-��$2 �4

�%� !���� �%��6 #� ��$�#�� 9 1 5 =� ��-�2 �-3��#$�!!2 �%� !���� �2��3#$� #�

�%� !�=74��?-��$2 ���.�6 # � =%�� �%� 3��-!��#�� 4��?-��$2 #� �3�!!�� �%��

�%� ��!�"��#�� ��$#!!��#�� 4��?-��$2 �� ��3�������� �%�� �%� !�=74��?-��$2

���.� �"%#B#�� � ���%�� #�������#�. #��#.%� �� ��	� �2��3#$� =#�% �"�����!

3��-!��#�� B�$�-�� �4 �%� ��������$� �4 3��2 GJ��H �2��3#$�! �%���37

��� �%�� B�$�3� !����� �� %#.%�� 3��-!��#�� 4��?-��$#�� �� ��$�#��� 9 1 06

9 1 9��� 9 1 , =� ���$�#B� �%� �"���#3����! ���-� �4 �%� �#���7�-3��� ��	�

=#�% �-3� 3��-!��#�� ��� $�3���� �%� ���-!�� �4 �#3-!��#��� =#�% �"���7
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�4 4��?-��$27 ��� �%���7!�$&�� ������ D=#�% �����$� �� �-3� 3��-!��#��E

�%��-.% B#4-�$��#�� �#�.��3� #� ���$� �4 �%� 3��-!��#�� ����3����� 	#7

��!!26 �%� 3�#� $��$!-�#��� ��� .#A�� #� ��$�#�� 9 +

,6�6� -���� ?���"

�%� 3���! #� B���� �� �%� ���� �?-��#��� #� =%#$% =� -�� � ��=��7B�!��$�

������$% ���!#�� �� � !��.#�-�#��!!2 �-3��� ��	�6 =%��� �%� �"$#��� �����

�B�����#�� D���E #� ��B#-3 �� �%� 1 97 *3 =�A�!��.�% ��� �%� �A���.#�.

�4 �%� ���-!��#�� #�A���#�� �!��. �%� �-3��� �$�#A� JB�� ��� �$$�-���� 4�� 

�-$% � 3���! =�-!� ������� �%� �=� 3��� �A#���� 4�$����6 # � 6 ��� �� �%�

!���� =�A�!��.�% D��� 	#. 9 1E ��� �%� ���!��#�. �4 �%� �-3� =�A� �� ����7

�.��#�� �!��. �%� �$�#A� JB�� �%#� 3���! ���� ��� #�$!-�� 3�$%��#�3� 4��

� ��!47�-!�#�. B�%�A#�� �4 �%� !���� B�$�-�� #� �-� �"���#3���� �%� �3�!#�-��

�4 ��!47�-!���#��� #� �3�!! D#� +75 ������ �4 3�.�#�-��E �� $�3����� =#�% �%�

�3�!#�-�� �4 �%� !���� �������� �-� �� �-3� 3��-!��#��6 ��� %��$� �%#� �47

4�$� %�� �� #�K-��$� �4 �%� !���� �2��3#$� �%� ����#B!� 3�$%��#�3� 4�� �%�

��!47�-!�#�. B�%�A#�� �4 ��	� D# � 6 �%��3�7!���#�. �@�$�� ��� ��#�2 �-3�7

#�.E ��� $���#����� #� ��%�� =��&� W;;6 ;<X =%��� ��3� 3��#J$��#��� ��� 3���

#� �%� 3���! 
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�%� �-3�#�. !���� �#��� ��� JB�� !���� ��� ��$����� �%��-.% � =�A�!��.�%7
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�#�%�-� ��2 �"�����! 3��-!��#��6 �%� �-��-� ��=�� �4 �%� ��B#-37�����

JB�� !���� ���������� ��!47��$#!!��#��� �� 4-���3����! !���� 4��?-��$2 �� D#�

�-� $��� �� � �� &�8E �-$% � ��!47�-!�#�. B�%�A#�� #� -�-�!!2 ����#B-���

�� �%� ������$� �4 � ���-��B!� !��� �-� �� ��B#-3 #�� ��#��6 �"$#��� �����

�B�����#��6 �� �-3� ���!��#�� #� �%� %��A#!2 ����� JB�� �%� %��3��#$

�#.��!6 �� ��� �
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3��-!��#�� �4 �%� �#��� $-����� =#�% �� �� �-� �"���#3����6 �%� �#.��! =#�%

�� � ��� 3R ���-!�� #� 9/L 3��-!��#�� ����% �4 �%� �-3� ��=��6 =%#!� �%�

�A���.� �#��� $-����� #� J"�� �� �� 3� 

�#�%�-� �"�����! 3��-!��#��6 �%� �-��-� �4 �%� !���� ���������� ��!47

��#&#�. ��$#!!��#��� 7 �#�%�� #� �%� 4��3 �4 ?-��#7�#�-��#��! 3��-!��#�� D��

�%� �-3� ��=��� !��� �%�� 0/ 3�E6 =%��� � �#.��! 3���-��� B2 �%� �%���7

����$��� #� =��&!2 3��-!���� D+75L �4 �%� 3�.�#�-��E �� �%� ��!�"��#��

4��?-��$2 6 �� #� �%� 4��3 �4 �%��� �-!��� �4 �-B73#$����$��� �-���#�� W<+X 
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!���� #� -�-�!!2 ����#B-��� �� ��3� ���-��B!� !����� #��A#��B!2 ��������� #�

�%� JB�� D���6 �-3� ���!��#�.6 ��$ E 
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�� �$$�-�� �4 �%� $�����! �%��� B���$% 5�+E ��� �B���A�� #� �%� !���� -����
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B#4-�$��#�� ��#���6 =%��� �� �����$��� #� B��� �� ���� �� �%� 	#. 9 : =�

�!�� �!�� �%� �%��� �#@����$� B��=��� �%� 3��-!��#�� �#.��! 4��3 �%� �-3�

!���� ��� �%� �-��-� �4 JB�� !����  ��� $�� ��� �%�� �%� ���.�� �4 �%� �%���

��� 4��?-��$2 !�$&#�. ��� �#@����� 4�� �#@����� B���$%�� �4 �%� B#4-�$��#��

�#�.��3I =%#!� 4�� ��� �4 �%� $��"#��#�. ���#��#$ ��.#3��� �%� �%��� #� !�$&��
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, � � �� � 4�� ��%�� 
, $%��.�� =#�% �  

�%� �"���#3����!!2 3���-��� 4��?-��$27!�$&�� ��.#��� ��� $!���!2 ����

4��3 	#. 9 ;D�E �%�� #� �%� $��#3���#���!7�=� B#4-�$��#�� �#�.��3 #� �%�

���$� �4 �%� 3��-!��#�� �3�!#�-�� ��� 3��-!��#�� 4��?-��$2 ���� �%�� �%�

%��#8����! ��� A���#$�! ���%�� !#��� #��#$���6 �����$�#A�!26 �%� A�!-�� �4 3��7

-!��#�� �3�!#�-�� ��� 3��-!��#�� ����% 4�� =%#$% �%� �#�.��3� #� 	#. 9 ,

��� 	#. 9 :D�E ��� �B��#��� �� #� ���� �%�� 4��?-��$2 !�$&#�. �$$-�� �A��27

=%��� �� $����#� ���78��� 3��-!��#�� ����% B�$�-�� �%� ��B#-3 JB�� !����

=#�%�-� �"�����! 4��$� �$�� �� �� �-����3�-� ��$#!!����I 
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+ ��� �%�

B�-����#�� �4 �%� �#@����� 4��?-��$27!�$&�� ��.#��� �%� $����7%��$%�� ��7

.#��� #��#$��� �%� B#���B!� ���.�� =#�% �%� ��3� =#��#�. �-3B���6 # � 6 �%�

���.-�� !#&� ����!� W1/X6 ��� �%� !#��� �1 7 �, ��� �%� ����!�7���� B#4-�7

$��#�� !#��� =%��� �%� �����$���� $���������#�. �� �#@����� !#3#� $2$!�� ���

B��� ��� ���� ���#�� �%��� ��.#���6 �%� �=� �#@����� ��.#3�� =#�% �%� ��3�

���#��#$#�2 $��"#�� �� ����� �� �#��#�.-#�% �%��� ��.#3�� �%�2 ��� 3��&��

D�� #� 	#. 9 56�E B2 G�����H �#�%#� �%� ���.-��6 � ���#��7��-B!#�. ��-�� ��

$%��� �$$-��6 =%����� B��=��� �%� ���.-�� � ?-��#7���#��#$ ��-�� �� $%��� #�
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